(AFRA]ETKET 5 HA

Bffa—K EMER Z IR 51 &2 B b} E
RO701 5T JESRIME x1. 06 A 27,772
RO702 5T ; BFRIMIE x 1. 14 A 29,868
RO703 5T JESRIMIE x 1. 59 A 41,658
RO704 5T s BRIEE x 1., 71 A 44,802
R0705 8T (BMEfExE 5 3%) A 39,300
R3101 B ; BFRIMIE x 1. 06 A 25,970
R3102 p=) JESRIMIE x 1. 14 A 27,930
R3103 B ; BFRIMIE x 1. 59 A 38,955
R3104 =) JERIME x 1. 71 A 41,895
R3105 kB (wEfExE  53%) A 36,750
R4300 EEEFRE A 51,200
R4305 B (wMEfEE 5 3%) A 76,800
R4310 B A 48,000
R4315 EERAD (wEEE  53%) A 72,000
R4320 ERATRE GAEEA A 42,200
R4325 BEHRAERE AT (wMEfEE 5 3%) A 63,300
R4330 ERAEHF GAEBF) A 32,400
R4335 ERAEHF BAEHF) (wMHEEE 538 A 48,600
R4340 BERATFEEE (BEMEES) A 18,400
R4345 ERATFEEE (BEMEXE (mEIfEE  52h8) A 27,600
R4350 BB A 24,600
R4355 TEREEm (wEfEE  53%) A 36,900
R4360 ERFEE A 21,700
R4365 EREXS (wEfEE 5 3%) A 32,550
R4401 RBFEEmRE A JERIME x1. 06 A 15,052
R4402 TEFELEE A ; BFRIMIE x 1. 14 A 16,188
R4403 RBHFEERE A ; BFEMIE x 1, 59 A 22,578
R4404 TEFELEE A s BRIEE x 1. 71 A 24,282
R4411 TEFEEFEB JERIMIE x1. 06 A 12,932
R4412 TEFELHEEB ; BFRIMIE x 1. 14 A 13,908
R4413 RBHFEERE B ;ESRIMIE x 1. 59 A 19,398
R4414 RBFELERES B s BRIEE x 1. 71 A 20,862
R4421 Z>Y T JERIMIE x1. 06 A 23,850
R4422 Feel)n ; BRIMIE x 1. 14 A 25,650
R4423 lZoY T ;ESRIMIE x 1. 59 A 35,775
R4424 Feel)n s BRIEE x 1. 71 A 38,475
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(AFRA]ETKET 5 HA

Bffa—K EMBERR Z R g1 K2 B b} E
R4425 lE>Y T (BMEExE 5 3B%) A 33,750
R4A00 RBHEEME A e 1,775
R4A01 RBFEZEMRESB e 1,525
R4AAL0 RBHELEME A (RMEExE 5318) frfE 2,662
RAAL1 RBFEEREB (BMEExE 5 3%) s 2,287
R4A21 RBFELEREE A ; BFRIMEIE x 1. 06 S| 1,881
R4A22 RBHFEZERE A  BREMEE x1. 14 =3 2,023
R4AA23 RBFELEREE A ; BFRIMIE x 1. 59 S| 2,822
RAA24 RBFEEmRE A JEBRIME x1. 71 iS5 3,035
R4A31 RBFELRES B ; BFRIMEIE x 1. 06 S| 1,616
RAA32 RBHFEERE B JESRIMIE x 1. 14 iS5 1,738
R4A33 RBFELHES B ; BFRIMIE x 1. 59 S| 2,424
R4AA34 RBFEERE B JEBRIME x1. 71 iS5 2,607
RAWO1 FAKEE T TE A 24,600
RAW02 2FVLRBET A 37,350
RAW12 FAKEE T TE ; BFRIMIE x 1. 14 A 28,044
RAW?22 2FVLRBET s ESRIME x 1. 14 A 42 579
RAW?25 2FVLRBET (RREEE 5318) A 56,025
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